Kirjatietoa, vikositeorian mukainen vahimmais
viskositeetti toimintalampotilassa, esimerkki

"Yleistaulukko” mineraali dljylle ja rasvalle (teollisuusvoitelu) perusoljyn
vahimmaisviskositeetin arviointiiin toimintalampatilassa. Huomio etta kun
nopeus nousee 0ljy ohenee ja painvastoin kun nopeus alenee niin oljy
paksunee. Sama lampotilan kanssa, lampd nousee niin Oljy paksunee ja
lampotila laskee niin Oljy ohenee jne..........

Base oil viscosity

vy = reference viscosity

dy = mean bearing diameter
i) = operating temperature

n = operating speed

(1) Viscosity mm? - s~ at +40 °C

Figure 3
V/T diagram for mineral oils

In addition to the speed, the base oil viscosity has a direct influence
on formation of the lubricant film. In normal cases, the base oil
viscosity should therefore be selected such that good lubrication
conditions are present under the operating regime (x > 1).

The required operating viscosity or corresponding IS0 VG grade

can be determined in approximate terms from the diagram.

The input values are not only the speed and the mean bearing diam:
eter but also the temperature, since this has a significant influence
on the viscosity, Figure 3.

In the example below, the base oil viscosity is determined for a bear.
ing with the following values:

mean bearing diameter dy; = 100 mm
speed n = 1000 min~!
operating temperature # = 80 °C.

This gives a viscosity ratio of k = 1. The result is a minimum required
viscosity of ISO VG 68.
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Esimerkissa: laakerin keskihalkaisija 100mm, nopeus 1000(rpm), toimintalampdtila 80°C.... -
tuloksena on ISO-VG: 68 viskositeetin 6ljy (minimissa) Huom! ISO-VG viskositeetti mitataan +40°C:ssa.
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